C3 (P) Lxam 2020
A W HTTH AF A GiETaT WiEH @ 7 HET W0 AT 9 T @i

o e 2. #ft. =1, : HGY-P-JHKI e qfE swEn
2049101 T gl
HHTA AHeqa
L S
e qurtes : 200
Ha

1. ﬁﬂmmtﬁ#gﬁrm,quﬂmgﬁm:ﬁrmmmﬁﬁ;wﬁaﬁfﬁmm,
T WY R B e seren uyAiw, anfE q g uly o §, A ol wd ofiem it # aem i |
2. O e T R OMR Fw-wae #, e v w, 9 e s wiem gt s A, B, C W
D i, oA @ gE o el g% @ Rl & av oin geag w0 f e sofem A R
Tt oft wasre <Y g Pty <y feufa 6 s Foroe e foay o |
3. 78 witEy woEy | fin e O angs) s
ST & | olgw ot w sl goy fd |
4. 0 wign qfew § 100 vrm () B o § | wes awiw el st sl A 0 e 2 ) o
g | =R R (39 By an |l @ v weg w1 A A, R 9w s W sifen e e
g | af s T ol v 9 ol vege o, A I wee S il o snee) s o
e T o S ew g v e
5. ST I W ORI ate @ feu o weves w2 aifer w3 € ) oo A e Rl e
6. ot uwEri & a7 AE §
7. T9Y qEel B a9 ofism # fafier vt & FELYE T Sl T OWE W, A W
m-ﬁ#mmmﬁwﬁmmﬁﬁﬁﬁl w
8. a9 wvd wdl weyell 1 I f wal % 4w A ol % ane w dwe s oee vl o
% | TR A9 g e qftE o W e R
9, = W % frg v wlier gfeem & o F dem E
10, T I o o 2E
e wA-ust § Ieftan g fin e e I i g Far s |
(i) ﬂﬁmmﬁﬁqaﬂﬂmﬁmmﬁ|m§ﬂmm%mmm%mm%mmﬁg
Fros fem o sl w0 venFrerd 22 3 w1 ey o
(i) TR F Feiimam k& wiw T odm 2, i o wewm w0 e amon, wafy G g sl 68 s e
B #, F5 oft 3w v F P andwmen o, o o w2 R o
(i) of2 Ffiemm g0 = o el R amn B, atafq ssfzan grr 3w T8 faan awn #, 9 9w v & faw
=g o i i wmam

W A SHTUEHT A GO GIART WA 7 7 FET A AT A T @

Note : English version of the instructions iz printed on the back cover of this Booklet.

HEY-P-JHKI (1-A)



HGY-P-JHKI

Freaffigs s w fam $ifim .
1. snant dEa @ @i owin F wfes
Hufm Tl T A #

2. e FE T (Corporations) # ‘S
2w w0 W+ T w5 ey T
= HhAl |

3, ‘maw’ dm IeE oA e % fom
wAfrant &

4. ‘amgw’ wem £ afem Al A Reemwm e
w4 & fom affamd 2

ITF T G G R gl &E

(a) TEE 1 30 4 .
(b) el 23 4

(e} e A

(d) e 1,230R 3

TFE {9 S E AW % WA sl e A
Hge

() % afwer yrelly &and wfsn s % T
q

(b wEaE # HeeE e o T
(c) WRN H B2H ¥ fwa i

(d) T T v w & A

{2-A)

THE HeR T & fwm 9 (MPLADS)
=+ i Ffiel & o A, sfafn s 4
H ®HH TEE 7

1. MprLADS Fiimi fams iwmtal &9
e, e, i &) s s
el @ Fmio § & wae & e #

2. wEw g # AR e o B am
srfem wiftaEwf s % e
W B HEEE R

3. MPLADS ffief alfds smam w
i ardt § afl sveges Rl o ad W
e e =i o = |=a 0

4 wEieE o wdt sl O 0 wnEasy
104 @ foen wiftedt g ol o
Forfteam afErd &

e fem T 2w i e a2 g
(a) a1 i 2

(b a8 a4

(&) FE@ 1, 23N 3

() a1, 23 4

Frtfafian g wftemd % fea gl § sggm
F wq § fren my fadee & Fep wteo mfEe
g7

(a) ¥ & Rz wfisn

(b EFFEAT = ST

(e} Tl Tr=w ¥ At

(dy T = AR

oA B, =i = sl 3 gy,
fbmal =fam # 2

{a) HigEw i IEEE o

i = 6 iR S Fewew g e

{c) Hﬁﬂaﬂqﬁrm

(d} TP FEHER




HGY-P-JHKI

Consider the following statemenis - o,

1 Aadhaar metadats cannot be stored for
more than threa months,

2. Btate eannob enter inio any contract
with private corporations for sharing of
Aadbaer data,

4. Aadhaar iz mandatory for ohtaining
insurance produets

4. Aadhaar iz mandatory for getting
benefits funded cut of the Consolideted
Fund of India,

Which of the statemeonis given nbove isfare

corroct ?

(a) 1 and 4 anly

bl 2andd anly

led  3only

4,
td) 1,2 and 3 only

Rejya Sabhn has equal powers with Lok

Sahha in

{al  the matter of creating new All India
Services &,

(b} amending the Constitution

(e the removal of the government

(dl  making cut motions

(3-4)

With referenco to the fands undar Membars pf
Parliament Loeal Areqn Development Scheme
(MPLADS), which of the fllowing atatemen s
are enrrect ?

L MPLADS funds must be usedd o crepts
durahle assots lika physical
infrastructure for health, education, ete,

£ A specified portion of each MF% fund
must bemefit 3C/ST populations.

d.  MPLADS funds are sanctioned  on
yearly basis snd the unuzed funds
eannot be carried forward o the next

yoear,
4.  The district authority must [nspect at
lemst  10% of al warks  under

implementation overy year.

Select the correct answer using the code given
below :

{al  land 2 only

(bl 3and 4 only

fe} 1,2 and3 only

{d] 1, 2and 4 only

Which one of the following categories of
Fundamental Rights ineorporates protoction
against untouchubility as & form of
diserimination 7

(a}  Right agninst Bxploitation

th)  Right to Freedom

ied  Right to Constitutional Remedies

{d}  Right to Equality

In India, separation of ndiciary from {he
executive is enjoined by -

{a)  the Preamble of the Conatitution

(b} & Directive Principla of State Policy

te}  the Seventh Schedule

(d)  the conventions practie
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0. Along with tho Budget, the Finance Minjstor a,
alga  places other documents hefore tho
Parliament  which inclade  “The Macro
Econgmic  Framewerk  Statoment’, The
aforesnid document i presented hecause this
ia mandated by

{fal Lang etanding parllamentary
conyention

(bl Article 112 and Article 11041} of thea
Constitution of India

() Article 113 of the Constitution of Indig
{d}  Provisions of the Fiscal Responsibility
and Budgel Management Act, 2003

7. Aconstitutional government by definition is 4
tal  government by legislature i
(hi  popular Fovernment
(e} multi-party povernment

td)  limited povernment

8.  Other than the Fundamental Righta, which of
the following parts of the Constitutien of
India  reflect/veflects  the principles and
provigiong of the Universal Declaration of
Human Rights (1945 7

1. Preamble

2. Divective Principles of State Policy

4. Fundamental Duties

Select the correct answer using the code Eiven

bl vy
ta) 1 and2anly
(b} 2 only

fe}  1and % anly

id) 1, 2and3

HGY-P-JHK] (5-A)

1.

In Indin, Legal Services Authoritios provide
from legal services to which of the follawing
tyvpe of citizens 7

L Person with an annusl income of lpes
than ¥ 1.00,000

2. Transgender with an annual income of
lege than T 200,000

a Membor of Other Backward Classes
{0BC} with an annual income of leas
thoan T 5,00 000

4. All Bendor Citizens

Select the correct answer using the code giﬁ-nn
belowr

(a)  land 2 only
th} 3 and 4 only
(el 2 and 3 only
(d} T and4 only

Congider the following pairs ;

International Seeliject
agrecnent d sel-up

1. Alma-Ata —  Healtheare of
Declaration the people

2. Hague —  Biological and
Convention chemical

WA

3. Talanog —  {Flobal climate

Dialogue change

4. Under2 Coalition —  Child righta
Which of the paire given abave isfare correctly
matched 7

() Tand 2 only

thy 4 omly

fel  1and 3only

(dl 2, 3and 4 only
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11. A Parliamentary Syelem of Government s
one in which

ta)  all political parties in the Parliament
are represented in the Government

{h}  the Government i respansible to the
Parliament and can be removed by it

tel  the Government is elected by the peopl
and can be removed by them

(d)  the Government s chosen by the
Parliament but cannet he removed by it
before completion of a fixed term

12, Which part of the Conatitution of India

declares the ideal of Welfare State 7

(m)  Dirvective Principles of Statq Policy

(b]  Fundamental Righta "

el Preamble

td}  Seventh Schedule

13.  Consider the following statements :

1. The Constitution of Indig defines its
*hagie structure' in Lerms of federalizm,
secularizm, fundamental rights and
democracy.

2. The Constitution of Indis provides for
judicial review' o safeguard  the
citizens” libertics smd to praserve the
ideals on which the Constitution i
based,

Which of the statements given ahove isfare

dorrect ¥

fal 1 only

(b} 2only

i) Both 1 and 2

{d}  Neither 1 nor 2

HEY-P-JHKI

14,

15.

16.

(7-A)

One common agreement between Gandhism
and Marxizm is

lal  the final goal of a stafeless aociety
(b class struggle
led  abalition of private projrty

d}  ecomomic determinizm

In the context of India, which ene of the
following i= the characteristic appropriate for
bureaucracy 7

(al  An ageney for widening the scope of
parliﬂ.manﬂmd&mum’at:}'

thh  An  agency for glrengthening  the

atructure of federaliam

(e}  An agency for facilitating  political
stability and econsmie growth

(d}  An agency for the implementation of
public poliey

The Preamble to the Constitution of India is

{a) & part of the Constitution but has no
legal effect

(b)  not a part of the Constitution and hag
o fegal effect either

el & part of the Constitution and has {he
same legal offect ge any other part

id) a part of the Constitution but has no

legal effect independently of other parts
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17, “Gold Tranche” | Reserve Tranche! refors to 14,

ta)  a loan system of the World Bank

(bt omeof the eparations of a Central Bank

(el a eredit system granted by WTO to ita
members

(d} & credit system granted by IMT tor its
members

L3
18.  With reference to the provisions contained in
Part IV of the Constituijon of India, which of

the following statements isfare corvect ?

I They shall be enforceable by courts. 20,

2. They shzll not be enforceshls by amy
court,

3.  The pringiples laid down in this part are
to influence the making of laws by the
State,

Select the correct answer using the eode given
below

tal 1 only
(b} 2 only
e} 1and 3 only

(d)  2and 3 only

HGY-P-JHK] (B-A)

Cansider the following statements -

I According o the Constitution of India, a
pereon who is oligible to vote can be
made a minister in a State for Bix
months even if hedshe is not & member
of the Legislature of that State.

2 According to the Bepresentation  of
People Aet, 1951, a person convicted of &
criminal  offence  and  sentenced Lo
imprisonment  for  five yeara s

permanently disgualified from
contesting an election even after his
release from prison.

Which of the statements gven above isfare
correct T -

tal 1 onky

by Zonly

(e} Both ] and 2

(d}  Neither 1 nar 2

Consider the following statements -

1. The President of India can ELMIMon i
session of the Parliament at such place
as hefehe thinks fit,

2. The Constitution of India provides for
three sesgions of the Parliament in a
year, but it is not mandatory to conduet
all three spasiona.

d.  Thers is no minimom number of days
that the Parlinment s required to meeat

#1I1 & VEAr,
Which of the statoments given above igfare
ﬂ'ﬂl’"l"ﬂ!t 1

fal 1 only
(b} 2only
el 1and 3 only
(d) 2and Janly

e
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21. 'With reference to the history of India,
conaider the following pairs ©

1. Aurang — In-charge of treasury
of the State

2. Banian — [Indian agent of the Bast
[ndia Company

3. Mirasider — Designated revenue
paver to the State

Which of the pairs given above isfare correctly

matched ?

fn) 1 and 2 only

(b 2and 3 oenly

) donly 1

d)y 1,2and3

22, With reference to the religious history of

Indin, consider the following slatements -

1. Bthaviravading belong to Mahavana
Buddhism.,

2. Lokottaravadin sect was an affehoot of
Mahasanghika sect of Buddhism,

3.  The deification of Buddha by
Mahasanghikas fostered the Mahayana
Buddhism.

Which of the statements given above iafare

correct ?

&} 1and2 anly

k) 2and 3 only

e 3 only

dr 1, Zand3

HGY-P-JHKI {11-

23,

26.

Al

Which of the following statements eorrectly
gxplaing the impact of Industrial Revolution
on India during the first hall of the
nineteenth century ¥

tal  Indian handicrafts were ruined.

(b Machines were introduced in the Indian
textile industry in large numbers.

e} Railway lines were laid in many parts of
the country.

{d)  Heavy dutice were imposed on the

imports of British manufactures,

Consider the following events in the history of
India :
1. Rise of Pratiharas wnder King Bhoja

2. Establishment of Pallava power under
Mahendravarman — T

3. Establishmeni of Chala power by
Farantaka — T

4. Pala dynasty founded by Gopala

Whet iz the sorrect chnrmn]u}g_im] order of the
above events, starting from the carliest time 7

fa) 2-1-4-3
ith) 3-1-4-2
ey 2-4-1-3
d} 94-4-1-2

Which of the following phrases defines the
nature of the "Hundi® generally referred to in
the sourees of the post-Harsha period 7

() An advisory issued by the king to his
subordinates

(h) A disry fo be maintained for daily
HOCOUnLE

e} A bill of exchange

An order from the feudal Jord to his
subordinates

fd}
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With reference to the book “Desher Kntha™
wrillen by Sakharam Ganesh Deuskar during
the fresdom strugple, eonsider he following
statements ;

26,

L. It warned agminat the Colonial State's
hypnotic conguest of the mind,

4. It inspired the performance of swadoshi
slrect plays and folk songs,

3. The use of ‘desh’ by Deuskar was in the
specific comtext of the region of Bengal,

Which of the statements given above are
carroct ¥ 20,
(a) | 1 and 2 only

(b 2and 3 only

el 1 and 3 only | .
dd 1,2and3

2%. The Gandhi-Trwin Pact included which of the

following *

1. Inwitalion o Conpreas to participate in
the Round Table Conforence

2. Withdrawal of Ordinances promulgated | 30
in conmection  with  the Civil
Disobedience Movement

4 Acceptance of Gandhiji’s suggestion for
enguiry into police excogses

4, Release of un]z-.r thoes prisoners whe
wers not charged with violenca

Select the correct answer using the code given

bseelimar

{al 1 only

(b} 1,2 and 4 only

fc)  Janly

{d) 2,3 and 4 enly

HGY-P-JHKI (13-A)

28,

The Vial-Vidhooneak, the ficst manthly
journal to have the unteushable peaple as its
target audience was published by

tal  Gopal Babhs Walangkar
(b} Jvoliba Phule
te!  Mohandas Karamehand Gandhi

{d)  Bhimrao Remji Ambedkar

With reference to tho history of India, the
terms “kulyavapa” and “dronavapa” denote

ta)  meagurement of land
(b  eoing of different monetary value
el elassification of urban land

td)  religlous rituals

Who among the following rulers advised his

subjects through this inseription ? i
“Whosoever praises his religious sect ar '

blames other seets sut of excessive devation to |

his awn sect, with the view of glorifying his

own sect, he rather injures his own sect very |
saverely,” |
al ¢« Ashoka j

I

) Bamudragupta
{e) Harshavardhana

(dl  Krishnadeva Rava [



dl.

it N

HGY-F-JHK]

wia % wiEps e & ued A, ‘v
¥ w1 we e Pl § @ wRa i 2
a7 vl 3 ferd my yretaan wdRmeE T8
% wiesn = weElwn w7 T
i FEE

(e} SfrgeiEnd farh e | dfdas vy wEE
E&-ﬁ

anfbm  TommE g we e
wiitraell s A

(FY]
ih}

id)

widty ghwe % ooed 4,
e T sl e

1, ofeni = Gem am ) sl

2. WEHl = 370g
3. =ivem sfirel & ST

= T w2 & w0 wEl S g
(a) oheer 130 2

ib) el 2 3 3

(e} e 133

id) 1,233

18984 T TEAE

"

s & 4 g wm o umg 0 i
ViATed] o ST § e ol o s R o

im) mﬁ:ﬁmﬁﬁ;aﬁﬁmm#m
TRl W ey

by = @ % wnm fw oamm § e
AT, BT

(e} :ﬂﬁiﬁfﬂfﬁﬂ@ﬁﬂﬁmﬁﬂﬂ
Foam e

(d) IEUEHI % F ST =

a4, FAFA A worw # R fafm w@m 6

(14-A)

e e IR E R R S

(a) 8 e 8 fEm 92w gateed 3t
w4 % fere e

(b) 98 Wra # W= A & Wi sl O
AT A1 =Tedl 7

() 8 Rfemm 50 9w e weafEl =
TR T2 ] 9TEa o

) W® fafem Tl w0 9w f§ guem ¥
ufertias = w4

wi & s & wed A, “wemmmT e
W g Fefafan § 7 oo w0 e
o1 7

(a) 1857 ¥ famiw =01

() 1921 % Wiien fagm =

(e} 1850 - 60 % 9= fEr =

) 1899 — 1900 F farn U= fGEE =

R Wi % FgEimlmd % e
Freaffias weet o fomm $ifim

1. iy geafi win & wEfi #
3. awiER s @ defiE R
/5, wIfeTEE o TE - 11 A il 2
Irds el § & shaoms w38
(a) w130 2
(h) AW 2 A3
() HEE g

W) 1,230 3




a2,

HGY-P-JHKI

With reference to the eultural histary of India,
which one of the follewing is the correct
description of the term paramitas ?
(a)  The earliest Dharmashastra
written in aphorietic (suten) style

(2} Philosophical schools that did not accept
the suthority of Vedas

Lexiy

(e} Perfectione whose attainment led io the
Bodhigativa paih

(d) Powerful merchant Euilds of parly
medieval South Tradia

In the eontext of Indian history, the
Bakhmabai case of 1884 revolved araund

L women's vight to gain educstion
2, age of consent
3. restitution of conjugal rights

Belect the correct answer using the code given
bl

(@) 1and 2 enly
th}  2and §only
{cd 1 and3anly
(dl 1, 2and3

Indige cultivation in India declined by the
beginning of the 20™ century becauss of

in)  peasant resistance to the oppressive
eonduet of planters
b 1is unprofitability in the world market

because of new fnventioms

e} national  leaders'
wultivation of indiga

opposition  to  the

(d}  Government contral aver the plantars

.

A1,

[15-A)

Wellegley  established  the Fari  Willlam

College at Caleutta bocause
ol he was asked by the Board of Darectors
at Londen to do so

thi  he wanted o revive interest in priental
learning in Indis

ied  he wanted do provide William Carey and
his agsociates with emplayment

(e  be wanted Lo train British civiliang far
sdministrative purpose in India

With reference to  the history of India,
“Ulgulan® or the Great Tumult iz the
description of which of the Tollewing eventa 7

lal  The Revolt of 1857

ik} The Meppils Reballion of 1021

{e)  The Indigo Revolt of 1858 — 60

{(dy  Birsa Munda’s Revolt of 1899 — 1900

With referenice to the echolarsflitteratours of

gncient  [ndia, consider the o lEowing

stmtpments ;

L. Panini is asseciated with Pushynmitra
sShunga.

2, Amarasimha  §s  gasociated with
Harzhavardhana,

4. Kalidasa is msesociated with Chandra
Gupta — 11,

Which of the etatements. given above fafare
eorrect 7

(a}  IandZonly
{bl  2and 3 only
e} 3only

d) L2and3




HGY-P-JHKI

an. W4 T wed O afiee il R A,

“orrRfEE TARFAT (Pronuclear Transfer)
=1 udw frm Tau g & ¢

@ 5 fagh ez & T % fom Emn I
T I

by TEM TR WA A SRl
SRR ETET

(o) TH (Stem) FiEERA] ® wRie Yol ¥
EEac

(y  Tar o e G oo

"

 fem & =i =R 8, sim giEm
(Artificial Intelligence), Fiefofian & & W
wr ) warEl ¥ R R P

1. i swedl @ fBgm 6 wwE WA
i

o, g ey w6
3. i & FEE

4 Fe A v (Text-to-Speech) ¥ fiada
5. faeg =t @ daw B

e fau o e w T R EE IO
(a) e 1,2,3305

) HEE 1,3 3 4

() o 2,4 3 8

(I 1,28 4305

{16—A)

99, 29 WER HER (VLO) aEAe & oae W,

Frfefis # & #A8 = wd § 2

1. VLC, 375 @ 780 nm =l fawgm e
Frwedl e & TIER 8 |

9. VLC #1 dauddl e S gun % w9
i A R

5 VLC wgy S ge § E S e me
=1 aifiw T & Afm T R

& VIO frenomedn =i T 8 R |

12 fom 2w W OEE I R
(a) Wad 1,230 3
() EE 1,23 4
(¢) e 1, 3 3 4
(d) wEA 2,330 4

. Ve aE & ved A, efafes s

ﬂﬁﬂ'ﬁiﬁlﬁq:

1. =@ v et P woe
Frftam T2 o &, 709 A0 6 0 O
e Frafaa =8 w0 |

o wetEes ) wEAT i e T B i
maﬁmﬁﬁﬁﬁmﬁaﬁn
He

9. wefEaR o omawea dfEE @ smTiE
s w e el = R
it T aw 21

T WA 0w P T A
(a) ﬁﬁl

(h) a1 32

(e} =HEE 2

(d) et 1 3T 3




27. In the context of recont advances in human
reproductive  technology, “Pronuclear
Transfer™ 13 nzed for
ia) fertilization of egg in vifro by the donor
Sperm

(b1 genetic modification of sperm producing
oeelis

{e)  development of stem eelis  into
funetional embryes

idi  prevention of mitochondrial diseases in
offspring
8. With the present state of development,
Artificial Intelligenee can effectively do which |
of the following 7
1. Bring down electricity consumption in
induwstrinl units

2. Create meaningfol short stories and
SOnEE

3. Disense diagnosia

£, Text-to-Speech Convergion

B. Wirelesz transmisgion of electrieal
ENErgy

Select the correct answer using the code given

below

ta} 1,2, 3 end 5 only

[h]’ 1, 3 and 4 nn]:,r

(e} 2,4and5only

il 1,28 4and 5

HGY-P-JHKI

S8,

{17 =A)

With  reforenee  to Wisible  Light
Communication (VLC) techmology, which of
the following statements are correct ?

1. VLC uses electromagnetic spectrum
wavelengths 375 to 750 nm,

2. VLU 15 koown s long-romge optical

wireless communication.

8, VLC can transmil large amounts of data
faster than Blustooth.

4. YLC Thas

interferenea.

no  electromagnetic

Select. the correct answer uging the cpde given
bedaw

fal 1, 2and 3 only
{b) 1,2 and 4 only
@ 1,8 and 4enly
td) 2,8 and 4 only

With reference to "Blockchain Technology®,
conaider the following statements ;

1, It s a public ledger that everyvone can
inspect, but which no single user
coentrols.

2 The structure and dezign of bleckchain
is such that all the data in it are about
eryplocurrency only,

4.  Applications that depend om  basic
features of blockchain ean be developed
without anybody's permisaion.

Which of the statements given above isfare

correet T

{a) 1only

(b} 1and2only
ey 2only

idy 1 and3only
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HGY-P-JHK]

FT SiegE % el 8, Bofil s m
e i -

Ly A e § slfefi) ot ofeei &
el o w9 H g fimar @ e

2. ¥w uEa wn % osfoe am &
FAN T HAORHE 6 F9 A A W
"EATE |

3. T FEOEEEE gdewt 0 svem fem
= EHEA R

4, wEA Fiem S
{bivdegradable) &1t # |

ude w2 SR wH

(a) ThE= 130T 2

(h) Faw 2,3 3 4

(e} e 1,330 4

(1,2 884

Frotan watatE o feew S
1, oA d wEe o fgmeneh e
2. ufkn wawmfaE & gEl oW ffle

A1

8, B, fawerm & fav e s
BE % v g v W

asAtRl % ade T w, 3w it O e
s, 9 % wEm ¥ FeaargEs o ar g9
21

{a) e 132

(I s

(e} e 133

(dy 1,233

(18—

A

fo) LI.EA":!THWI!ET
(d) ¥EiEE LISA

foferfias weei w fomm Hifi

L vt W s 3 A W 3
e s § arElie gieds
AMEFTE |

3. =R W FEW 39 8 ud wEbe
mﬁmﬁﬁhmﬁmﬁlw

3. HHE ufim = | luripotent gtem)
it = w T % g o sedfie
o mowwa 7 |

I wE AR Rl A e

(a) Fhee 1

(h) EH ¢ 3 3

(e) ®EE 2

() 1,23

U § i #9H 2 (Preumoeoceal

Conjugate Vaecine) i 39 & 51 o3 2 7

1. # SR = o oaw & mfeee
A Afrg & fwg e # |

2. 39 wivatatesal @ Bdo =y ) 5wt
B oA sfmaaiEn WA % g
Ayt 78 # |

3. W deE & FE T I (side effects)
T4 ool q ft 3 Awmi W v
grae] SR (allergic  reactions)
& |

et fom 0w w af e e

{a) e 1

by ShEe 1 #HT 2

(o) ¥4 3

dy 1233




41,

With reference to carbon nanotubes, consider

the following stalements ;

1, They ean be used as carriers of drugs
and antigens in the human body.

2,  They can be made into artificial blood
capillaries for an injured part of human
bady.

3, They can be used in biochemical
BBMEOTS,

4.  Carbon nanotubes are hiodegradable,

Which of the statements given above are

correct T

{a) 1land2only

(b} 2,8andd4only

ied 1,3 and 4 pnly ’

idy 1,2 3andd

Congider the following activities :

1. Spraying pesticides on a crop field

2 Inspecting  the craters of  active

Volcariogs

3. Collecting breath samples from spouting
whales for DNA analysis

At the present level of technology, which of
the above activities can be successfully carried
out by using drones 7

{a) 1and 2oaly
() 2 and 3 only
(e} 1and3aonly
{dy 1,2and3d
HGY-P-JHK]

43.

{19-A)

“The experiment will employ a trio of
spacecraft Iying in formeation in the shape of
an equilateral triangle that has sides one
million kilometres long, with lasers shining

between the craft.” The expériment in
question refers to

fa) VYoyager-2

(b} Mew Horizons

(¢l  LISA Pathfinder

(d} Ewolved LISA

Consider the following statements ;

1.  Genetie changes ean be introduced in
the mells that produce eggs or sperme of
a progpective parent.

2. A person's genome can be edited beform
pirth at the early embryonic stage.

3, Human indueed pluripotent stem cells
can be injected inte the embryo of & pig.

Which of the statements given above isfare

correct 7

(a) 1 onmly

thy  Zand 3 only

e} 2only

(d} 1, 2and3

What i3 the importance of using

Preumoecoccal Conjugate Vaccines in India 7

1, Theee vaccines are effective against
poeumonia a3 well s meningibis and
BEPEIS,

#.  Dependence on antibiotics that sre not
effective against drug-resistant bacteria
can be redpeed,

4.  These vaccines have no side effects and
cause no allergic reactions,

Select the correct answer using the eode given
bl
la} 1only

(b 1andZ2only
{cl Jonly
idl 1,2and3




47.

46. wma §, “ofEm i ERmRT (Public Key
[nﬁmhru:tum)ﬂﬂh*ﬂﬁﬂﬁﬂﬁﬂﬂl
ST R Y
(a) Fafses gram smomoE s
(b) TR EET STORE SEA
(0)  FERE s @ fen snamgs goe
(d) wEEER A giEER A ST
Frforfin oot § @ w8 ey, ol wl |
eIl & HE A e & i 8wl § o
1. TRy wifs ¥ feEm sl il
el B oefie o it 4 9 9
Bt

2 UEY wimEmE § owwm fag ad
Fil Al gae faal uil silEmed o
37 B

4. whve yEN SR R U gE el
Tl # FEER Wi wIEE 8 s wnd | 80
it B ¥

At fin e 0w o w FE g . i

{a) HEE 132

{h) Thaw 2 3 g

ic) @ad 1afta

dy 1,233

(20-A)

HGY-P-JHKI

a8, Fr=fafes @ 8 FE8 Fonsrs duih g

39 A 6 7 |
1, TEEcn JE (ankemobile) TR0 FeeTiE
=Y

THEETE W WAl

FIERET BT A

i Fen o vt 3 ot @ I
iyl & Tl 3= = 39w
rﬂﬁ’ﬁ‘lﬂﬂﬁ:’ﬂﬂmﬁﬂﬂ?ﬁﬂiﬁq

m) % 1, 2efe g

(b e 2 4

(c) Fad 1,334

() 1,23 4305

ufe fame wier § geo e fidte gwe B
8, o Fofafen 4 3 w92 s, we
&, 5ol =i oW & §w, 79 I
TEH T T A 7

|, e Rl i w il w e
2, e 30N f9E sl %1 umy e

3, o wa T o ofEde s as
CIERCRIE TR Lot i
lal e L

{b) e 13t 2

{cl Er

W) 1,29R 3

Ife @M A 9% F 4N 9 S@E (Demand

Deposit Account) ¥ T 1,00,000 51 TRe TR0

P ¥, o sidererman & awaioe w9 & 95

= T I W R T OTE T8 7

() g W owmm gfid 4 2 100000 6 R
AT

() Hz # w9 4 w0000 1 oafz
wirft

(e} T W EWW 9R A ¥ 100000 @ s
@1 gfg wnff

(e o mmy g ol

E o ge b




46. In India, the term “Pablic Key Infrastructure”

iz used in the context of
fa)  Digital gecurity infrastructure
iby  Food security infrastrusture

¢y Health care and education

infrastruciure

(d}] Telecommunication and transportation

infrastrictira

-L':-',. Which of tho following statemenls are correct
regarding the general difference between
plant and animal cells ?

1. Plant cells hsve eslluloas cell wealla
whilat animal cells do not.

2, Plant colls do not have plasma
membrane unlile animal eells which do.

3. Mature plant cell has one large vacuocle
whilet animal cell has many small
vacuoles,

Select the corroct anawer using the code given

below

{a) 1andZ2onky

) 2 end 3 only

el 1 and 3 only

idy 1,2and3

HGY-P-JHKI

44,

(F1=A)

Which of the following are the reasone/factors
for exposure to benzene pollution ¥

1. Automaobile exhauvst

2, Tobacco smoke

3. Waod hurning

4.  Using varnished woeden furniture

5, Using products made of polyurethane
Select the correct answer uzing the eode given
Ixzlonay

{n) 1,2 and 3 only

()  2and 4 only

(e 1,3 and4only

id) 1,23 dand 5

If another global financial crisis happens in
the mnear future, which of the following
actions/policies are most likely to give some
immunity to India 7

1. Mot depending on short-term foreign
borrowings

el

Opening up to more foreign banks

Maintaining full capital account
convertibility

Select the correct answer using the code given

helow

(g} 1only

(hy 1and2only
(e} 3 omly

tdi 1,2and3

If you withdraw ¥ 1,00,000 in cach from your
I'.'PE'E"EIBRI:I Dapasit Account at your bank, the
immediate effect on aggregate money supply
in the economy will be

(al toreduce it by T 1,00,000

(b toincrease it by £ 100,000

(e} toincreasze it by more than & 1,00,000
(dl o legve it unchanged
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HGEY-P-JHKI

i 1 weme faasht Fedw & e 4, Feefaiam

# & waeh el e e ol Tt 2 2

(a) %% e Fedt gy e 6 e
syl e Ty o g FEe R

(bl 8 T 1 Hia 7 W e iy
21

() w2 T faEm ¥ Feel S
i B 2 )

) us fee wemm el g wEd
wfiryferd @ foemn =t amen FEME

afwe # g % s e e b,

frafefas 8 @ FaE == wd 84 0

1. YR % we @ R, WE S s
A

3 YR % TR o SO, THEALsTeER 3R
I % wmara # B W O w sl
£

3. wre i Hani = fatn, gw % s
o sfems &

4, WEA o gE e ST wie oW
iralfa e § 8

i fam o g W w0 d I g

(a) HEE 13w 2

(b} e 2 #N 4

(¢) e 3

(d) e 1,830 4

guflwdl muERl W o @R R 9 S
Famm el (West Texas Intermediste),
freafefiaa # & fien v ugrd i it 3 Haifis
g

fa} el e il

(hy HERE-GTH (Bullion} =i
() gEr T el R

() TR

B4, W aErE & g §, Freeten § @

5.

(22-A)

Fram - fael won § wibkm 88 2

1. oftarl @ g T

g, RiE IR O YA 0

g, TR @ (Treasury bills)

A fem e 2w i A wE I A
() &EE 1

(b) a1 HK 2

TR =

(d) 1,233

qrE H, i e wE R CwRudn,

e IO e T A E SRR AR

woan & i 7 @ WA

(2) FF WhEm W W W i 3
iy =

() Fw wmEEs ffFEm o e F R
Y HiE g

) g faeht mw gm wal ERO# A
= vite] FEEl g

() ww A = A E § A el
et e =@

‘s mEtis fEw ot TRIMS) & Hed 1,
FrfaiEy wadl 8 8 wRmm w2 0

1. faeft Fewsst g fier o@ 9t smm 9
“gfmmyorers fde g €9 8

2. % el v HEa AW % mmn §
Haftr Fidw 39w = arp A |

5. @ foesh fldm % fme @ wefte =l #

A= i o g = i s EE e 9

(n) e 19 2

(h) e 2

{¢) a1 ¥ 3

{d) 1,231 3




51. With reference to Foreign Direct Investmont
in India, which one of the following is
considered ibs mejor characteriatio 7
fal It is the imvestment through capital

instruments essonbially i a listed
CONPany,

(b}  Itis a largoly non-debt ereating capital
flanar,

{c} It is the mvestment which involves
debb-servicing.

{d) Tt is the investment made by foreign
inatitutional investors in the
Covernment securiiios,

52. With reference to the international trade of
India at present, which of the following
statements isfare correct ?

L India's merchandise exports sre less
than itz merchandize imports. I

2. India’s imports of iron and steel,
chemicals, fertilisers and machinery
have decreased in recent years.

3. India’s exports of services are more than
ike imports of services.

4. Indin suffers from sn  overall
tradefcurront neeount deficit,

Sefect the correct answer using the code given

below :

fa}l  1and 2anly

b} Zand 4only

{c) Jonly

(d} 1,3 andd4only

53. The term ‘“West Texas Intermediate’,
somatimes found in news, refers to a grade of
(e} Crudeail
{b)  Buollion
e}  Rare earth elements
d} Uranium

HGY-P-JHEKI

(23-A)

In the eentext of the Indian economy,
nim-financial debt includes which of the

following ¥

L. Housing loans owed by households

2. Amounts outstanding on credit cands

3. Tressury bills

Select the correct answer using the code given
b Lo -

{a)  1enly

(by  1and2only
el 8 only

idl 1, 2and3

In India, why are some nuclear resctors kept
under “IAEA Safepuards® while others aro
ngt 7

(a} Some wse uranium and others use
thorium

(b} Some use imported uranium and others
uag domestic supplies

te}  SHome are operated by foreign
enterprises and others are operated by
domestic enterprises

(d)  Some are State-owned and others are
privately-ownad

With reference to Trade-Related Investment

Measures (TRIMS), which of the following

statemorts is'are corpect 7

L. Quantitative restrictions on imports by
foreign investors are prohibited.

2. They apply to investment measures
related fo trade in both goods and
services.

8. They sare not concerned with (he
regulation of foreign investment,

Select the eorvect answer using the code given
below ;

@) 1 and 2 only

(b}  2only
e} 1anddonly
fdl 1L, 2and3
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57, ufd . .and. yanaEr @ i s

w3 & vl #m 8, o g Fsfafea 9 2 50

TET Wi 7

1. fafE W wEm R geER W
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2. e el yinm = = wgE

3. T w0 WEE a9 i S A 0 g2
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i) a2

T 1 B
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Ty Al O # FEAE Tl R

{a) T 19 2

(b e i 4

(c] e 8

(d)] e 1,2 4

(@4-A)

gy, =kl syl w T=w $ifE .

1. i & aeeEE A siee w6
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W
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ib) a2

(@) 13w 2@Ft

d) A LAR D

30. WA ¥, Fedt safn o ame i s, A
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T, Fefafan § @ wheh | g

wm

1. AR FE Ao R @ IER e
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3. o wge SeLmEn g R o oeRE R
e wet & R REmm e 4
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4% T e w1 WA HE @ g

im) e 1,284
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57, If the RBI decides to adopt an ex pansionist
monetary policy, which of the following wonld
it paxt o T
L Cut  and  optimize the Statutory

Liguidity Ratio
a Increase the Marginal Standing Faality
Hate
2 Cut the Bank Rate and Hepo Rate
Select the correct anawer using the mode given
below :
{a) 1 and2only
by 2only
te) 1 and3oenly
(dy L, 2and3
L]
58, With reference to the Indian economy afler
the 1891 economic liberalization, consider the
follywing statements |
1y Worker productivity (T per worker at
a0ld — {15 prices) increased in wrban
aroag while it decreased in rural aress,

2. The percentage share of rural areas in
the werkforce steadily increased.

3. In rural areaa, the growth in non-farm
economy increased.

4. The growth rate in rural employment
decreased.

Which of the statements given above islare

correct 7

{a) 1and2only

{h) 3 and 4 only

(¢) &only

id) 1, 2and4only

HE¥-P-JHE]

it N

[25-A)

Consider the following stotements !

1. In terme of short-term credit delivery to
the agriculture sector, District Central
{ooperative  Banks (DCCHs} deliver
more eredit in comparison to Scheduled
Commercial Benks and Regional Bural
Banks.

2 One of the most important functions of

DECHEs is to provide funds to the
Primary Agricultural Credit Societies,

Which of the statements given above isfare
correst ?

lal 1only

(bl 2only

(¢l Bothland2

(il  MNeither 1 nor 2

In India, under ecyher insurance for

individuals, which of the fellowing benefits
are generally evvered, in addition te payment
for the loss of funds and other benefits ?

1. Oost of restoration of the computer
gyetem in case of malware disrupting
access Lo one'a computer

% (pst of a pew compiater if some miscreant
wilfully damages it, if proved =o

3. Cost of hiring @ specialized consultant to
minimize the loss in case of cyber
extortion

4, Cost of defence in the Court of Law if any
third party files a suit

Select the correct answer using the code given
hekow

ia} 1,2 and 4 only
by 1,3 and 4 only
(e 2and 3 only
(dy 1,2 5andd
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wrg #, Pl 4 8 e s A et
T wrn =1 w0

T < Ll 2 R e e
wae e Fraffa s

2. Wi F wm gt = sepiem

5. At g e

4. FEnl wl Fryes Taaet 6 amgfd

5. i weme g i w6 ok

6. "z wamm gt W el
A

ﬁﬁqwﬁmﬁwmaﬁﬁmqﬁq:

{a) Had 1,23 5

(b ad 1,9, 43 5

fe} g 2,398 ;

d} 1,284 538

e # % & “erweniE SYA (Interest

Coverage Ratis)” 9% W &9 §Ee

2

. Rl fRismBamd $
A wiET & EEe e |

2 MW TP wwd, s
I T S W gegisa § weg
B

8 3R &1 St Wi w1 weeta e
famn wfiee 2m, 39 = wowhE
T T EE e

A9 fe me gz =1 w0 w I g
(a) et 1 3R 2

(b} e 2

{c) hEm 130 2

(d) 1,233

(26-A)

63. = % @ fAl A Feefafae d @ sk

weREAA i wE § S & o W
wTfer W TR ol ¢

1. = e gy

2, HUREHE §H1 S=IYE &30

3. WG GRI HESRT ]

4 It welafEaT subsidies)

= fam e g2 w0 M = wd e af
(a) e 1,230 4

{b) T 1, 3 30 4

ic) haw 2 3 8

d) 1,233 4

Frrifefiam =i 7 famm Fif ;

1. Tooe o § wna-sfiee =R aew i
A AL R

2, WiE AN Arerew & o B 8 = 8
U i FEs B o e % =
E §

5, fwd e it A, s o 7w
SR F1 FaEE 727 aniEn A 1wy ®

I FE 0§ RV T A

{a) oHEe 1300 2

(bl wEH 2

(o) a3

oy 1zafts




8l. In India, which of the fllowing can be | 63.
copgidered as  publie  investment  in
agriculture ?

1. Fixing Minimum Support Price for
agricultural produce of all crops

. Computerization of Primary
Agricultural Credit Bocieties

4.  Social Capital development

4, Free electricity supply to farmors

5.  Waiver of agriceltural loans by the
banking svstem

6. Selting up of cold storage facilities by
the governmen ks

Gelect the correct answer uzing the eode given

below ;

(py 1.2 and5 onky

(b 1,8 4 and 5 only "
2.5 and 6 onl

(e} 2,8an ¥ i

(dy 1,2.2. 4, 0andb

62, What is the importance of the term "Interest
Coverage Ratio” of a firm in India 7
1. It helps in understanding the present

rigk of a firm that a bank is going to
give loan Lo,

2, It helps in evaluating the emerging rick
of & firm that a bank is going to grve
loan tao.

3. The higher a borrowing firm's level of
Intereat Coverage Ratio, the worse is its
ahility to serviee its debi.

Select the correct nnswer using the eode given

below @

(a) 1and 2 only

(bl Z2only

() 1oand3only

{di L1L.2andd

HGY-P-JHKI (2T —A)

Which of the following Factors/pelicies were
affecting the price of rice in India in the
recent past 7

1.  Minimum Support Price

& Government's trading

3.  Government's stockpiling

4, Consumer subgidies

Select the correct angwer uging the code given
below :

{a) 1,2and 4 only

{by 1,3 and 4 only

{e) 2and 3 only

(d} 1,2 3andd

Consider the following statements :

The value of Indo-Sri Lonka trade has

consistently  increased in  the last

decade,

2. “Textile and textile articles" constitute
an important item of trade between
India and Bangladesh.

3. In the last five years, Nepal has been
the largest trading partner of India in
South Asia,

Which of the statements given above iafare
cnerect T

{a¥ 1and2only
(b} 2only

(e} 3 only

(@) 1,2and3
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65, FatefEa § @ fea aye % o =i 2w Ga2o

HATE R

() Iradn, aiEE, i afie v g
(h) wTedfimn, TeT, wetfirn e gty
() FTHTRA, HF, B 3 v e
() FErATEE, wE, fmg vE sl i

. o Mz e e 3 e, R
# & fefe s & o gl = wersEin
T AT I T A e

1w vife % mEomE gy s
9ol % fem

3. HEETSH HeTE WiEl, fwedl U el T &
w0

.3. oot oiEr St Iodm sEEERme
o

A EHE T % AT % wE &+ o

5. ofan & fw g Pl qu afe o e
g =it e & fig

3 fo ™ = W oW oAl I g
{a) HaEE 12305
(h) a1, 3 30 4
le) a2, 9,495

] 1,28, 4305

L

s,

(28-A)

frfErfian et w fa=am it -

1, wm o w I qeE gEEE
(CPI) § WR (weightage) 376 ‘di6 74
s (WD # f oo uw @ i #

2. WP B & g # AR A aftEd
] T# T, A CPI % # |
8. wEw fod & 1 @ yEedif o+ gE

HF B A9 e it i % Fafe et
uftad & WL e R

g Al & FEama vl 8 ¢
Wad 1 3 2

() FeEE g

(¢) a3

1,241 3

fa)

(d)

Frfefia gt o faram $ifam
i e e 8

75

HFPF —  VERH HN

g — WA W

gem — SR g

Far  —  fes e

s qudl § @ BREE w0 gafen B8 0
Fas 13 ¢

Faa 3

1.

2
d.
4

i)
(b
(e} e 3 4

(d) FaEd 1,2 a4
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In which one of the following groups are all | 67.
the four coumtries members of G20 7
{a)l  Arpontinn, Mexico, South Africa and
Turkey
iby Auwstrehia, Canada, Malaysia and
Mew Fealand
{c)  Brazil, Iran, Seudy Arabia and Vietnam
idi Indenesia, Japan, Singapore and South
Korea
Under the Kisan Credit Card scheme,
short-term eredit support is given Lo farmers
for which of the following purposes 7 "
1. Working capital for maintenance of
farm assets
2. Purchase of combine harvesters,
lroctors and mini trucks
; . GE,
3. Consumption requirements of farm
households
4,  Poat-harveat expensea
6. Construction of family house and
setting up of village cold storage facility
Select the correct angwer using the eode given
below
{a} 1,2 and 5 only
() 1,3 and 4 enly
e} 2,3, 4 and 5only
() 1,23 4and5
(28 -A)

Conaider the following statements

1. The weightage of food in Consumer
Price Index {(CPL) ia higher than that in
Whaolesale Price Index (WP,

2, The WFI does not capture changes in
the prices of services, which CPI does.

3,  Roserve Bank of India has now adopted
WPI ae ite key measure of inflation and
to decide on changing the key policy

rates.

Which of the statements given above lsfare
correct 7

(a) 1and3only

(b} 2only
fcy donly
(dy 1,2and3

Consider the fllowing pairs ;

Hipar Flows indo
1. Mekong — Andaman Sea
2. Thames —  Irigh Sea
3. Volga — Caspian Sea
4. Fambezi —  Indian Ocean

Which of the pairs given shove isfare correctly
matched 7

() 1and2only

(b 3 only
el 3 eand4only
idy 1,2anddonly
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1, wit s, e ud el s SEE
anda el (MSP) W T (eE) R
% ol o it v (4.8 §
st i 8

0. o we EEl w1 MSP FR o
rerdpanfis wEn W R ow Fraifm
forar e & B an W wn e Wl
i o 77 |

I we § @ e e R

n)  wEE 1

(b} HE@ 2

) 13N 2gHf

(dy S LA

R s % ey d, el s

w1 = #ifam .

L ‘affErE 99 (Commercial Paper)
FERIER Tt e B

g @E WAW-SE (Certificate of Deposit)
sty fed &% gm fed P =1 e
i T3 e e was

a. WA Z9 (Call Money) AW
FREA & fom wgm e iy W R
Bl

4, ‘FFaEE W08 (Zero-Coupon Bonds)'
s s gt g P = F
T T AR T afRn e Wi
f

Frd AT § B wEAE T e e

{a) et 130K 2

(b e 4

{¢) e 130 3

{d) g, 8 4

(L

T

(30-A

W%F@ﬁﬁmﬁﬂﬁﬁ,ﬁﬂﬁﬂﬁaﬁ
ﬁmﬁﬁnﬁlﬁ'ﬂ.:
1, ufmres . oieanit 3 v

3 WHm =1 0% WA e
4 FgEE g S EmEme s

Fwth o B & A i
in) EE 1A 2

ihy wEE 1T 3

¢} e 231 3

W 1,2

wrdt w9, Fefiflar s o

ey et

1, el 5w e AR R

g, B o wfiwem mET 22 MR TE B
Wl & |

a s e 40 3 F I 7 6 =
e o o e A R

4 wmA ¥ Ted 4, wimt R owaEis

e e H R |
Tl T A R w7
{a) e 19 2
(hi AT 2T 4
feh &AT B
(d) e 1,33 4

frferfisn 1 & S ‘wifEm & sl &
i fe g

1, AREE U I

g, R T

5. TREN =T i a9

4. STEATE T AN
ﬁﬁqw?ﬂmﬁmmaﬂmﬁﬁq;
(a) e 1N 2

(h) et 3 3 4

(&) e 1,3 900 4

@) 1,2,33W4




69, Consider the following statements |

1. In the case of all cereals, pulses and
pil-seeds, the procurement at Mimimum
Support Price (MSP) is pnlimited in any
State/UT of India.

2. In the case of cereals and pulses, the
MSPF ia fixed In any State/UT at a level
to which the market price will never
rise,

Which of the statements given sbove isfare

correct T

(ay 1 only

(b} 2 only

(¢} DBothlandZ2

(d)  Meither 1 nor 2

L
70. With reference to the Indian economy,
consider the following statements :

1. ‘Commercial Paper' {8 a short-term
pmgecured promissory noke.

2. ‘Certificate of Deposit’ iz a long-term
instrument issuad by the Reserve Bank
of India to & corporation,

3, ‘Call Monoy iz a ghort-term finance
psed for interbank transactiona.

4, '"Ferp-Uoupon Ponds' are the interest
bearing short-term bonds sssued by the
Schedulod Commercial Banks  to
corporations,

Which of the statements given above ialere

eorrect T

{a) 1and2only

(bi 4 only

(e} land3only

(d) 2, 3and 4 only

HGY-P-JHKI

TL

T2,

(31-A)

With reference to the cultural history of Indin,
vongider the following pairs :

1. Parivrojaka —  Repunciant and
Wanderer

2 Bhramans —  Priest with a
high status

8. Upasaka —  Lay follower of
Buddhism

Which of the pairs given mbove are correctly
matched ?

ia] 1and2only

(b}  1and 3 only

(¢l 2and3only

idd 1,2and3

With reference to Indian elephants, consider

the following statements :

1, ‘The leader of an elephant group is a
fomale.

2 The maximum gestation period can be
92 months.

4. An elephant can normally go on ealving
till the age of 40 years only.

4. Among the States in India, the highest
elephant population is in Kevala,

Which of the statements given above 1s/are
correct ? .

{a) 1and2only
{b) 2 and 4 only
{e)  3Jonly

idl 1,3 and 4 only

Which of the following Protected Areas are
located in Canvery basgin 7

1. Nagarhole National Park

2,  Papikonda National Park

3. Sathyamangalam Tiger Hesorve

4. , Wayanad Wildlife Sanctoary

Solect the eorrect anawer using the code given
bedow

ta) 1and2only

by Fand 4 only

e} 1,3 and 4 only

idy 1,2 5and4




74, WA # dfafrm ¥ wed 4, dER | g Gofdfem 4§ sha W meivs Swedl
Wiy, s o, iR e o v € wnl weph g s wRfies st
wee-ide tererd W § 7 i TR £ 2
(n) WER W R A
(b) W . i o s
T 3. Tewem sl awmm

. 4. wHA T TR
dy T
i fam 0 S W @i W I g
() e 13 g

75, WA e q (arEfam) & s6 st @ T T
g qE W W R § S s s
b % dum & Pro Beid d 8w @ Fssh
wnlip dy wfirz 2 9 " (dy o 1 # g
{a) TRFEI T TOR
k) S W R L R
(c) HEATITS Segald HNENTE ghfem =0 swa FEA =g ® = &

id) A e geral iy fom fafafigs O @ s wam ) arfise
i & TR R
1, A
v6. ToamA = Frefafiae 4 @ fees T gl @) 2, oty fisfian temree Sreifind)
AR ? 3, AT
1 s & R f 4. 3w fafin teeme S |
2. i & gun E fim 5. e ik |
5. e % v 5 R ETY S . . |
A e e g w i e g s GG |
fa) e 13 2 |
ih)  HEE 2 HE 3 el Worer B a4
(e) ihaer 13 g (e) et 4 35
id) 1,233 id) HEe 1305

HEY-P-JHKI (32-A)
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India’s
Coppersmith

With  referenie 1o biodiversity,
Ceylon  frogmouth, barbet,
Gray-chinned minivet amnd  White-throated
redstart are

(a} Birds

(b1 Primates

ey Reptiles

(d) Amphibians

Which one of the following protected areas is
wellknown for  the

sub-species of the
(Barasingha) that thrives weil on hard ground

and iz exclusively graminivorous ki

conservation of a

Indian swamp deer

(a) Kanha National Park
{h)

(e Mudumalai Wildlife Sanctusry

Manas National Park

(d) Tal Chhapar Wildlife Sanctuary

Steal slag can be the material for which of the
following ¥

1.  Construetion of base road
2. Improvement of agricultural soil

3. Production of cement

Select the correct answar URINg the code given
below :

1 and 2 only
2 and 3 only

il
(b}
{cd  land3enly

(dy 1,2andd

T8.

(33-A)

Which of the following are the most likely
plages to find the mugk deor in its natural
habitat ?

L Askot Wildlife Sanetuary
2, Gangetri National Park
3. Kishanpur Wildlife Sanctsary

d. Manas National Park

Salect the correct answer using the code gven
helow

(e)  1and 2 only
ikl 2and 3 only
{cy  Aand4only

(dy 1 and4only

In rural road eonstruction, the uge af which of

the Eallowing is preferred for STSUTITE

anwironmental sustainability or to rodues

carbon footprint 7

1.  Copperslag

9 (old mix asphalt technology
3. Geotextiles

4,  Hot mix asphalt technology
5. Portland cement

Seloet the correct angwer using the eode given
bl -

&
(gl 1,2 and3only
ih) 2 3 anddonly
(¢} 4 andb only

{d) 1and®& only
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1, e o) T o s, dien s g
siafde 2 8 |

2. e weiien fae oy vaie § et
ERdeAEs o TR % ariEoEs
Tt A E

8. e wied € ow B s wwEr oo
TR |

FE weT A A e A

(a) &HFA 1

{h) w2 ¥l 3

(e} FAE 3

) 1,233 -

1. AEE FE G (vertical farming) 8
g Ty AW % w9 0 9 e
A WAl R |

z W AEEN FgER WEW H #E F
w W owgw fenm owm %, @ am
T e # ot @
e T

3. o gy gl mem & siw o wg
vgw e W R, @ W I digw

e FEAE EE H A
U SN TEE § HERE gl |
Fwfr wudl d 8 Wl of 2 ¢
{a) wHEw 1302
(b a2
I = I

(d) 1,233

BI.

Ed.

(34-A)

aft fdt e ot Bl sl =0 amwls g
afafem, 1o7e & At vid e om #, @
wHE] e A Y

(e} 39 N0 F e % R wmde
SETEHAT # |

(bl VR e e R o oy O R
A |

() U W AT FaRi weel 9 d o

() U dtem amRTHeR EWn B odh wiftem W
fom wrfrprs B B |

urdta s = TeEw % g & |@f °, m
HETETE, T e e e R 4 e

(a) TagE =mOm i GE wEuE
thy  wierEmel =1 Wi TRl

(e} TEFR TEA HE a4 FNE 2 wEia
C]

(d) g W % wEvg e

gl i gt (zero-tillage) H/H F4T EH

B e

1, Tl wEe  EeE Howen A
= FIE HYE | |

2. wrEe 6 78 g f ol s e, am
& oftatt o1 e A il oo gE R

¢ 8. VETH FE QAR R

dH Tw o e w1 W W od am R

(n) e 142

(by Ee 2 &N 3

(e) e 3

(@ 1,23W3
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T8, Consider the following statements

1. Conl ash confain:  areepic, lead and
IMErCury.

3, Coal-fired power planis release sulphur
dioxide and oxides of nitrogen into the
emvironment,

3. High ash content is observed in Indian
ol

Which of the statements given above i3fare

correct 7

fal 1 onky

bl 2and 3 only

(el Jonly

(dy 1,2and3

L]
B0, What is the uwse of biochar in farming 7

1. Biochar can be used as a part of the
growing medium in vertical farming.

2. When biochar is a part of the growing
medium, it promotes the growih of
nitrogen-fixing microorganisms.

d. When biochar ia a part of the growing
medium, it enables the gprowing medium
o retain water for longer time,

Which of the statements given above islare

correct |

ta) 1and 2 only

(b} 2 only

(e} 1and3 only

(dl 1,Zandd

HEY P JHE]

HL.

BE.

(35~A}

If a particular plant species s placed under

Schedule W1 of The Wildlife Protection Act,

1872, what ig the implicetion ?

fal A licence is required bo coltivate fhat
plant.

iy Such a plant cannot ba coltivated ander
any circumstances,

ic) Itz a Genetically Modified crop plant.

id) Soch a plant is invasive and harmful to
the esnsystem,

With reference to the period of Gupta dynaaty
in ancent Indin, the towns Ghantagala,
Eadura and Chaul were well known ag

fal ports handling foreign trade

(b) capitals of powerful kingdoms

{¢) places of esquisite stone ard and
architectire

id)  important Buddhist pilgrimage centres

What isfare the sdvantepe/sdvantiages of

zero tillage in agriculture 7

1. Bowing of wheat is possible without
burnimg the residue of previous crop.

2. Without the need for nursery of rice
saplings, direct planting of paddy secds
in the wet so01l is possible.

3. Carbon sequestration in the soil is
possibie,

Select the correct answer using the code given
balow ! -
P,

{a) 1and?2only
th) 2 and 3 anly
e} 3only

(d) 1,2 and3d



Be. T i dadw B v AR F osgEm,
Tatdar & o % T Pofefes § 3
Trer S el Wil % w9 0 B e B 2

1. wHE
w. i i & T

5. et % d

4. Fel (Horse gram)

6. HET A

6. R

et fam e e w wabn w1 aE e
{a) *E¥ 1,2 5N 6

b Fa7 1,3 436

(e} e 2,3,430 5

dr 1,234,596

g5, rafafEs 4 % 9 599 S & T
T 9 W wEH w9 A vl e § o7

i g & = 1 Ty Feafofi § @ G

R e

(a) WEW W 0 UH 0O, & I §
arefl dfwrefia af

(by Tt 2w & Sforw doei 6 savee,

ot s 3w s Al w0 aet
SR wand v wom &

() Tl wwar ol (Climate refugee)
g Foeelt sz % of sl A iy
T, 0, TR

() el ug w Rt stE FEwogm e
T TEE

HGY-P-JHKI { 36

86, WA H = & sewed & ded O, Feafafee

et ut fan $ifam -

1. 352 < o wfts il ot S v A
= A1 Tt & 1

2, e STE IFTEA S EPTHN ST T e
Culca kR i

3. Tows @9 eawi o, =01 wite = =
;‘Fﬂﬁﬂmﬂ,ﬂﬁlﬁﬂﬁﬁﬂﬂmm
|

ToE wul # e wd g

fa) A 1

b} Hae 23 g

{e} e 2

id) 1,233

87. “=F wwe 30w wEf R | s e sEn
e B @ | fawm & wos ey
210 wren-fa RBaat aft so - 100 @ s
) AETEEA U= 8 | Feehl gaEfee g
fodt ol ymwr w0 F amm B oashr ot &
fom sl w0 @ aggm B o owEw
Fratafaa 4 @ s & 2
{a) A9
) T
(¢) T
(d) =g

88. ®R WA U & wed #, Fefsfen s ow

o o

Lo HR ol w g gl ol R =E e
fow & mwaw R R Fmewh
{submergihle) 79 & fo 7@ |

2. =R Tl w5 W et 96 e e %

. gqﬂmﬂ%aﬂzﬁmaﬁ%ﬁa

|

Fja e A A e A

fa) a1

(b) 2

) 130 23

(@ A LAE2

A
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B, Aceording to Indis's Matwmal Policy on | g
Binfuels, which af the lollowing ean be used as
raw malerials for the produetion of biofuels 7

L Crszavy

2. Damaged wheat graing
3. Oroundant speds

4. Horse gram

& Rotten potatoss

6. Bugar bost

Salect the cormect grswar using the code jgiven
helow :

fa) 1,2, 5ands only

() 1,3, 4and 6 only 87.

fed 2,3, 4 and & only

fd) 1,28, 4,5and 6

B3, Which one of the following statements hast
describes the Larm 'Sacial Cost of Carbon' 7
It is & measure, in monetary value, of the

(e} long-term damege done by a tenne of | gg,
COy emisgions in g given venar,

(B)  requirement of fossil fuels far o eountry
to provide goods and services to its
vitizens, based gn the burning of those
Tuels,

il ﬂﬁumi:rutinh}'n{:ﬁmntarafuqaab:l
adapt to live in a new placs,

(d)  contribution of an individual person to
the carbon footprint on  the plinat
Enrth.

HGY-P-JHxI (37-4)

With reference to pulse prodution in India,
consider the fullowing statenents «

1. Black gram can be cultivated ns bolh
kharif and rabi crop.

£ Greengram alone aceounts far nearly
halfl of pulse production.

a [n the lazt thres decadss, whilo the
production  of  kharif pulges  hps
mncreased, the production of rabi punfang
has decreased,

Which of the statements given shove izt
correct P

i8] Tonly

b} 2 and 3 only
e} Zonly

id) 1, 2and3

<Ihe crop is subtropical in naturs, A haed
frost iz injurious to it It reguires st leask
210 frost-free daye and 50 to 100 centimeters
of rainfall for its growth. A light well -drained
soil capahle of retaining moisture is ideally
suited for the cultivation of the crop." Which

tme of the following iz that trop ?
(ay - Cotton

thl  Jute

(e} Bugareane

(d}  Tea

With reference to solar watar pumps, cansider

the fallowing statements -

L. Bolar power can be used for running
surface pumps and not for submersible
purmps,

2. Bolar power can be used for running
ﬁenh-jrugaii Pumps and not the ones with
pisti.

Which of the statements given above isfare

correct ¥

a}  1only
(h) 2 only
{e) Both1and2

id)  Neither 1 nor 2
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ap, e H R 6 S 1 i vl % wed A,
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qefafal # it e W R
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=
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Fi fau v 52 W W g W) I gAY
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(b Eer 1,2 HR 4

(¢} e 1,8 ¥4
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G Fﬁ'ﬁﬁﬁﬁf {magor minerals) 5% 1

{a) ThEE 13 2
(b) T 4

() HEw 1808
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With reference to the eurrent trends in tho

q]1.
cultivation of segarcane in India, consider the
following statements :

L. A substantial saving in seed material is
made when “bud elip settlings’ are
raised in & nursery and transplanted in
the mamn field.

2. When direct planting of setts is done,
the germination percentage s better
with single-budded selts as eoiripared fo
sutis with many buds,

8. If bad weather conditionz prevail whan
setts am directly planted, single-budded
setts have better survival s compared
1o larpe setis,

4. Bugarcane can be  cultivated neing
settlings prepared from tiesue culturs.

Which of the statements given abve isfare

coreeet |

8l 1and 2 only

b} 3enly

iel  1and 4 only

(di 2 3 and 4 enly

He.
In the context of India, which of the following
lare  considered to  be practicels) of
cer-friendly sgriculiore 7
1. Crop diversification
2. Legume intensification
4. Tensiometer yse
4. Vertical farming
Select the correct answer using the coda given
below ;
tal L Zand & eonly
(hy Zonly
fed  4only
d) 1,2, 3and4

(39-A)

What are the advantages of fertigation in

agriculiure 7

L Centrolling the alkalinity of irrigation
water is poasilde,

2. Efficient application of Hock Phosphate
amd all other phosphatic fortilizers ia

puasihle,

d.  Increased availability of nsutrieats bo
plants iz possibie.

4. Reduction in the leaching of chemical
nintrients s pessible,

Solect the correct answer using the rode given
below ;

ta) 1, 2and 3 only
th) 1,2 and 4 snly
el 1,3 and 4 only
() 2, 3and $only

Congider the following minerals :
1. Bentonite

2. Chromate

. Eyunite

4. Sillimanite

In Indin, which of the above islans officially

designated as majer minerals 7
(2] 1and 2 mmly
(b} 4 only

(e} 1and3only

(d} 2.9 and 4only
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HEFEFH  Higd A (Ocean Mean

TL':Inpl'_‘]‘H.t-Ul'E'."'GhTTJ% HT:"IE 5, Fofiafea #H

FRE/E wae ull BE 7

. OMT ¥ 26°C ¥9am @ i TR 0%
s R oW s owE d fem
e % iimatrEm A 129 diE W
BT |

5 OMT, @t Fadl — 5§ v e
% = =7 Pff w6 % R i fen
a1 weaT # R AEEa i A O
Fifiem e situa anl @ Fw Eft @
sifls |

e fon g o e I 9

(a) e 1

by WEA 2

(@) 19w 25l

Wy FAr L, AHE 2

wim A e s+ aed #, frefafE
| 7 femm i -

1, Sdam § Tewbe #E w s e
A deiE & sk g8 waw oo Fabe
H # |

9. apitEn & Y R § W A §, 9
Tl A e E R

3, W, | WERhE o T § R
w1 O B, 9% e AT HAEE
TR

To e A 8 SR wE R
(a) AT 1

by A 23R 3

{c) “hadt 2

id) 1,233

(40-A)

W % ' TeE T & wed #, Frefatem
e T i

1. W et d fea ©
8 TUM ¥ I FE e 9 WE e E

a, 4 ‘T gew wed % W e 0
AR R

e fm e e w1 TEE A e T
{a) EE 13 2
(b) %EE 2 3N 3
(¢) et 1310 3

(dy 1,233

e, Tomta T ol m R

(o) wAE R R E
(b dEFE A
() frefe & I H

() TE TR R S A



93,

HGY-P-JHKI

With reference to Ocean Mean Temperature

(OMT), which of the following statements

infare correct 7

1.  OMT is measured up to 8 depth of 26°C
isotherm which is 129 meters in the
south-western Indian  Oeean  during
January - March

2, OMT collected during January — March
can be osed in assessing whether the
amount of rainfall in monseon will bo
less or more than a certain long-term
M.

Select the eorrect answer using the code given

below :

fal 1 only

(hy 2 only

ic) Both1 and 2
(d) Neither 1 nor 2

With reference to chemibal fertilizers in India,

consider the following statements :

L At present, the retail price of chernical
fertilizers is market-driven and nat
administered by the Government.

2. Ammonia, which is an input of urea, is
produced from natural gas.

3. Sulphur, which is a row material for
phosphorie  aeid  fortilizar, iz &
by-product of ofl refineries,

Which of the statements given shove isfare

correct 7

al 1only

(b} 2 and 3 only
(c) Zonly

(d) 1,2and3

(41 =A)

B5. With referemce to Indis's Thesert Mational

Park, which of the following statements are

correct 7

1. It is spread over two districts.

2. There is no human habitation inside the

Park.

3. It 18 one of the natural habitats of Great

Indian Bustard.

Select the correct answer uging the code given
balaw :

ta) 1andZ2only

thl  Zand 3only

{c)  1and 3only

ddd 1,2and3

Sinchen Glacder ie situated to the
{a]  East of Akssi Chin

(b) Eastof Loh

te}  North of Gilgit

(d}  North of Nubra Valley
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by a2 #T 3

ic) a2
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With reference to the history of  TIndia,
consider the following pairs -

Famous Place Fresent Siage
L Bhilza —  Madhyva Pradesh
2. Dwarasamodra — Maharashirs
a Girinagar —  (ujarat
4.  Bthanesvara —  Uttar Pradesh
Which of the pairs given above are correctly
matched 7
fal 1 and 3only
(bl 1and 4 anly
(e} Zand 3 only
tdd  2and 4 enly
Consider the following statements -

1. 36% of Indis’s distrjets are clagsified ms
“overexploited” or “critical” by tha

Central Ground Wager Authority
{CGWALL
2 CGWA  was  formed  under the

Environment (Protection) Ael,

3.  India has the largest area under
groundwater irrigation in the world,

Which of the statements given above iafre
correct ¥

tal 1 only

(b}  2and 3 only

(el 2only

(dl 1 and 3 only
1GY-P-JHK|

104D,

(43-A)

Censider the following statements -

L Jel streams oceur in the MNorthorn

Hemisphere anly.
2. Only some evelones develop an oye.

4. The temperature inside the eye of a
cyclone iz nearly 10°C lesser than that

of the surroundings.
Which of the statements given above isfape
correct T
tal  1only
tht 2 and 3 anly
(e} 2 only
td) 1 and 3 anly

Among the following Tiger Reserves, which
ong has the largest ares under “Critical Tiger
Habitat™ 7

ta)  Corbett

ik}  Ranthambore

te}  Nagarjunsagar-Srissilam
(d)  Bunderbans
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